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Answer Key & Worked Solutions 

SCGS Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

2 1 2 3 3 4 1 4 1 1 

Q11 Q12 Q13 Q14 Q15 

3 1 3 2 3 

Q16) 5.31 
Q17) 4

2
3

Q18) 0.15 Q19) 6 and 12 Q20) 108.4kg 

Q21) 40 ° Q22) 34 Q23) 48 blue 
beads 

Q24) 52 cm 
Q25) 62

1
2
 g 

Q26) 3 cm2 Q27) 16 
Q28) (

6k+3
 2

 ) 

peaches 

Q29) 52 ° Q30) 48 m3 

Paper 2 

Q1. 
3
5
 G = 

1
4
 H = 

3
12

 H 

Ratio  5 : 12 

Q2. No. of cards in 1 group  6 x 3 = 18 

No. of groups  
234
18

   13 

Q3. Area of 3 sqs  3 x 8 cm x 8 cm = 192 cm2 
Area of overlap  4 cm x 4 cm + 2 cm x 2 cm = 20 cm2 
Area of figure  192 cm2 – 20 cm2  172 cm2 

Q4. Adults + girls  20 
Adults + boys  24 
2 x adults + girls + boys  20 + 24 = 44 
2 x audlts  44 – 40 = 4 

Adults  
4
2
  = 2 

Total guests  40 + 2 = 42 

Q5. Extra  1.20 x 6 = 7.20 
Total  7.20 + 16 = 23.20 
No. of key chains  23.20 ÷ 1.45  16 key chains 
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. 85%  $924.80

1%  $10.88

100%  $1088
$848.64  848.64 ÷ 1088 * 100 = 78%

Discount percentage = 100 – 78 = 22% 

Ans:  22% 

7. Let number of children = 2u ( 
2
3
 ) 

Number of adults = u ( 
1
3
 ) 

Number of children coupons = 3 x 2u = 6u 

Number of adult coupons = 7 x u = 7u 

Total coupons = 6u + 7u = 13u = 1248 

u = 1248 ÷ 13 = 96

Number of adults =  96 

Ans:  96 
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8. a)

Area of triangle RST = 
1
2

 x 9 x 9 = 40.5 cm2 

b) 

Let length PQ = u 

1
2

 x 6 x u = 40.5 

u = 40.5 ÷ 3 = 13.5 cm

Ans:  (a)  40.5 cm2 

(b) 13.5 cm

9. Ratio of Ben’s age to Zoe’s age  4 : 1   24 : 6

Ratio of Ben’s age to Zoe’s age in 4 years time  14 : 5  28 : 10

Ben’s age in 4 years time = 28 years old 

Ans:   28 years old 
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10. a)

Total electricity bill in 4 months = 92 + 105 + 79 + 86 = $362

b)

Electricity charge rate = 362 ÷ 1783 = $0.20 per unit

Ans:  (a)  $362 
(b) $0.20 per unit

11. Desert volume =
1
3

 x 
5
3

 = 
5
9

 ℓ 

Amount of milk left = 1 
2
3

 - 
7
9

 - 
5
9

 =  
15
9

 - 
7
9

 - 
5
9

 = 
3
9
 ℓ = 

1
3

 ℓ 

Ans: 
1
3

 ℓ 
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12. a)

∠ TQR = 82°

∠ PQR = 60 + 82 = 142°

∠ RPQ = (180 – 142) ÷ 2 = 19° (PQR is an isosceles  triangle) 

b)

∠ STQ = 180 – 82 = 98°

∠ STP = 98 + 60 = 158°

Ans:   (a)  19° 

(b) 158°

13. a)
Let u = length of square

Area of ABC = 
1
2
  x 

1
2
 u x

1
2

u =
1
8

u x u

Area of 4 shaded triangles = 4 x 
1
8

u x u =
1
2

u x u

Area of 2 squares = 2 x u x u = 2 u x u 

Fraction of shaded figure = 
1
2
  ÷ 2 = 

1
4

b) 
Area of figure = area of 2 squares = 36 x 4 = 144 cm2 
Area of 1 square = 144 ÷ 2 = 72 cm2 

Ans:   (a)  
1
4

(b) 72 cm2
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14. Area of semi-circle =
1
2
 x π x 12 x 12 = 72π cm2 = 72 x 3.14 = 226.08 cm2 

Area of trapezium = 12 x (34 + 24) ÷ 2 = 348 cm2 

Shaded area = 348 - 226.08 = 121.92 cm2 

Ans:  121.92 cm2 

15. At last,

Difference between 
4
3

 of Aishah and all of Su Ling’s paper cranes = 16 x 4 = 64 

Difference between 
4
3

 of Aishah and half of Su Ling’s paper cranes = 82 

Half of Su Ling’s paper cranes = 82 – 64 = 18 

Total paper cranes at last = 18 + + 18 + 82 = 118 

Ans:  118 paper cranes 
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16. a)

Difference in price between 12 pens and 12 highlighters = 4 x 4.20 - 3 x 3.50

= $6.30

Number of sets of 12 pens and 12 highlighters = 25.20 ÷ 6.30 = 4

Number of children = 4 x 12 = 48

b)

Price of set of 12 pens and 12 highlighters = 3 x 3.50 + 4 x 4.20 = $27.3

4 sets of 12 pens and 12 highlighters = 27.3 x 4 = $109.20

Amount she had at first = 109.20 + 20.80 = $130

Ans:   (a)  48 

(b) $130
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17. Net increase in total number of eggs = 4.5 ÷ 100 x 2400 = 108

Number of quail eggs thrown away = 150 – 108 = 42

5% of quail eggs = 42

100% of quail eggs = 42 x 20 = 840

Number of chicken eggs at first  = 2400 – 840 = 1560

Ans:  1560 chicken eggs 




